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3. (a) —1,0,1 (b) '—4/—31_21_1 (C) _131—12/_11,*10,-9,~8,\7
4, 1,0,-1,-2,-3 '

NN R 5 s s ot
(@ -3 0 [- 3 is on the left of 0.]

(b) 6 —8 [6is on the right of — 8.]

(© -12 ~11 [- 12 is on the left of —11.]
(d) -4 4 [- 4 is on the left of 4.]

(e) -9 -13 [-9is on the right of —13.]
® -6 [=] -6

6. (@) —9<-4<-1<6<7<11
(b) —25 < —20 < -10 < 0 < 12 < 35
7. (@ 21>9>0>-8>-18 > 24
(b) -11 > -13 > -15 > -18 > —-28 > 41

Exercise-2
(a) (iii) The integer succeeding —156 is —156 + 1 = —155.

(b) (ii) We take the distance towards north direction as positive, and
towards south direction as negative.

139 km towards north = +139 km
175 km towards south = -175 km

Therefore, the position at the end of the journey
=139+ (~175) = -36 km

o 1-1751 =175, 1139 =139

175>139 and (- 175) is a negative integer.
Thus, his position from the starting point is 36 km south.

(c) (iii) A pair of integers whose sum is -5 is -3, -2
(-3) + (-2)=-5.
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|—661 =66, 1721 =72
72-66=06
72 is a positive integer.
So, (—66)+72=6
So, (-25)+(—41)+72=6
(b) 100+ (-1100) + 1000 = 1100 + (-1100)
111001 =1100, [-11001 =1100
1100-1100=0
S0,100 + (-1100) + 1000 =0
() 1-1131=113, |-3111 =311, |-1171 =117
113 +311+117 =541
Each of these is a negative integer.
So, (-113)+(-311) + (-117) =-541

(d) 14901 =490, |1-395| =395 and 12151 =215

Both (-395) and (-215) are negative integers.

395+215=610

So,(-395) + (-215) =—610
Now, we have 490 +(-610)
|-6101 =610

610 is greater than 490 and (-610) is a negative integer.

490 + (-610) = —120
So, 490 + (<395) + (-215) =— 120

Puzzle (Page 115)

s[-[5]+[3]=16]
- Es _
i = +
9 10 4
Exercise-3
1. (a) (iv) The other integer = (-25)-32
= =25-32=-57

(b) (i) 2 steps backward
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JM@F=5=(S3) = =5+3 = -2
[Adding 3 which is opposite of (-3) to (-5)]

< t t } —_— P T TR
LI T

C 876543210123 45678 9101112
(b) 12-4 = 12+(-4)=8
[Adding (—4) which is opposite of 4 to 12.]

" : . . . E . ! : /'—m \
Ll 1

S 87 6543210123 45678 9101112
(0 2-7=-2+(-7)=-9
[Adding (-7) which is opposite of 7 to (-2).]

DA M 0

& 1
SNy N 1 ] 1

109 8765 432-101234567 8910

(d) 10-(-8)=10+8 = 18
[Adding 8 which is opposite of (- 8) to 10.]

BE - 0 10 11 12 13 14 15 16 17 18 19 20
3. (@) 193 — (~77)
- 193+77 [Adding opposite of —77 to 193]

= 270 |
(b) —23 -18 : :
= —23+(-18) [Adding opposite of 18to (-23)]
= -41
(0) -53-(-19)
= _53+19 [Adding opposite of (—19) to (-53)]
=-34

(d) -149- (- 149)
= _149 + 149 [Adding opposite of (—149) to (—149)]
=0
(e) —83-0
= —lald) |
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